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Assess the relevance of Buddhism to
humanity today.
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Explain the ‘Advaitavada’ of Shankara.
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How is ‘Iqta’ different from Jagir
system?
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Describe the attitude of Ala-ud-din
Khalji- towards the Ulemas’.
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What were the implications of Akbar’s
notion of ‘Sulh-~i-kul’?
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What was the attitude of the Rajputs
towards Aurangzeb?
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What is the importance of the
foreigners’ accounts as a source of
ancient Indian history?
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Give an account of Chandragupta

. Maurya’s conquests.
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Write a note on Lake Sudarshana as
an irrigation project.
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Discuss the position of women in the
Sangam literature.
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“Gupta period was the golden period
of ancient Indian history.” Analyze the
statement.

“aref wRa & e § T s @ g o’
30 Fu F Tvema FRd

Bring out the main features of
‘Stupa Architecture’ with reference to
Sanchi Stupa.
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9. (a) Examine the Mansab and Jagir systems
and the reasons of their failure in the

18th century.
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_(b) Discuss Shivaji’s concept of Swarajya.
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